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[ MATHEMATICS SECTION 2 [

51. Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equation y = 10x + 5,

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?
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The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20.

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?
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[ ) MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (-3, —25).

C. Why is the point (-3, ~25) not a possible solution in this situation?
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51.

MATHEMATICS SECTION 2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The duscounted price, in dollars, the gym charges can be represented by the
equationy =10x + 5.
3 mx ¥

the y-intercept each represent in this situation?
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A. Whatare the slope and the y-intercept of the equation? What do the slope and '

The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20., :

B. Howmuch money, in dollars, does Justin save the firstmonth by joining the gym
at the discounted price rather than at the regular price?
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51. Continued. Please refer to the previous page for task explanation.

' Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (-3, =25).

C. Why is the point (-3, =25) not a possible solution in this situation?
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MATHEMATICS SECTION 2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The dlscounted price, in dollars, the gym charges can be represented by the
equation y = 10x + 5.

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?
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B. How much money, in dollars, does Justin save the first month by joining the gym

The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20.

at the discounted price rather than at the regular price?
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51. Continued, Please refer to the previous page for task explanation.
Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (=3, =25).
'C. Why is the point (-3, =25) not a possible solution in this situation?
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51.

MATHEMATICS SECTION 2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equation y = 10x + 5.

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?
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The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20.

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?
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51.

Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (-3, -25).

C. Why is the point (-3, -25) not a possible solution in this situation?
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51. Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equation y= 10x + 5.

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?

%\th -~ M PATS LAVAREH Moy
—Trr SWEL 1O the roney N i
VOV Yy gckcnl vasern ko O W - (AR Hae

AORENt oF TASETNS)

N

,"“\*@rc&p\- =5
- R y-\mm(p\- & A CAaNRy YoV owe
\CFX ovgyr A0 C().)Q o QAo chtwr Mng s,

The regular price, in dollars, the gym charges can be represented by the
equation y = 16x + 20.

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?

FOr 4ne S\tpe SOBhn saved {5

For  dang \I_\Q\WCQ'P\. WS Sowved |WS.



csloan
Text Box
PSSA Math: Justin Joins a Gym (Grade 8); Training Set 1

csloan
Text Box


PSSA Math: Justin Joins a Gym (Grade 8); Training Set 1

T1-5

| ) MATHEMATICS SECTION 2 -

51. Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (-3, -25).

C. Why is the point (-3, -25) not a possible solution in this situation?
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51. Justinis joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equation y= 10x + 5,

A. What are the slope and the y-intercept of the equation? Wi'lat do the slope and
the y-intercept each represent in this situation?
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The regutar price, in dollars, the gym charges can be represented by the
equation y = 15x + 20.,

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price? )
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51. Continued. Please refer to the previous page for task explanation..

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (-3, =25)..

C. Why is the point (-3, =25) not a possible solution in this situation?
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51. Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equation y = 10x + §,

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represenfin this situation?
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The regular price, in dollars, the gym charges can be represented-by the
equation y = 15x + 20.,

B. Howmuch inoney, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price? ) .
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51. Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (-3, =25).

C. Why s the point (-3, =25) not a possible solution in this situation?
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51. Justinis joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The dnscounted price, in doltars the gym charges can be represented by the
equation y = 10x + 5,

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?
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The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20,

| B. How much money, in doliars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?
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51. Continued. Please refer to the previous page for task explanation,

Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (-3, =25).

C. Whyis @he p‘oinl (=3, =25) not a possible solution in this situation'z
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51. Justinis joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

‘The discounted price, in dollars, the gym charges can be represented by the
equation y = 10x + 3. '

A. What are the slope and the y-intercept of the equation? What do the slope and
' the y-intercept each represent in this situation? g
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| The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20.

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?

= , = Mn Swes 20 dolless e

Yl g;"f—h”moﬁ,,% Z k"%? 7

V= fhil 120 becatler x reprbent3
numbe” oF  /onths,

V=35



csloan
Text Box
PSSA Math: Justin Joins a Gym (Grade 8); Training Set 1

csloan
Text Box


PSSA Math: Justin Joins a Gym (Grade 8); Training Set 1

-

IB'ML 15.1387508.0091

MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.,

| Justin creates a system of equations based on the equation from part A and the
equation from part B. The solution to the system of equations is (=3, -25).

C. Whyisthe po;nt (=3, =25) not a possible solution in this situation? .
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51.

MATHEMATICS SECTION 2

Justin is joining a gym. The gym is currently offering a discount on the fee to join and
on the monthly rate.

The discounted price, in dollars, the gym charges can be represented by the
equation y=10x + 5.

A. What are the slope and the y-intercept of the equation? What do the slope and
the y-intercept each represent in this situation?
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The regular price, in dollars, the gym charges can be represented by the
equation y = 15x + 20,

B. How much money, in dollars, does Justin save the first month by joining the gym
at the discounted price rather than at the regular price?
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51, Continued. Please refer to the previous page for task explanation.

Justin creates a system of equations based
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0 ﬂ@%&h\/‘e number
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equation from part B. The solution to the system of equations is (~3, =25).

C. Why is the point (=3, =25) not a possible solution in this situation?
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